R = BHKERERMXEL 4 — (RHETEH)
201542818
ZES
EHERE | FRRE | pxmmsnn fxmmMaE exrosan fxTnAE| B (ReXE|RESE(SABE|EXEE|BERE| WE |[BEARE| AR |BEAS| A5t |RSKE|sxcesex|sceses| ENEE
m/s m/s B m/s °c °c °c °c % mm mm h h MJ MJ hPa % % %
1:00[JL7 4.7[3t7 9.6|FEILFE 5.4 1.7 2 1.7 -6 56.7 0 0 0 0 0 0] 10276 56.7 54.6 64.2
2:00(FHIL T 5.6t 10.8[FHIL A 5.8 1.6 1.8 1.6 -6.2 56.5 0 0 0 0 0 0] 102738 58.4 56.3 64.1
3:00(FHIL T 4.8|FEILFE 10.1[FHIL A 5.6 14 1.6 14 6.1 57.4 0 0 0 0 0 0] 10279 57.6 56.3 64
4.00|FaL7E 5.8|FEItLFE 9.8|FEILFE 6 15 1.6 14 -6.3 56.1 0 0 0 0 0 0] 10279 575 55.9 63.9
5:00|F 3L 7 6|#HItFE 10.4[FHIL T 6 15 15 1.3 6.1 56.9 0 0 0 0 0 0] 10282 57.3 56 63.8
6:00|FE L 4.4|FEILFE 9.2|FEILFE 6.1 1.1 15 1.1 -5.9 59.6 0 0 0 0 0 0] 10287 59.6 56.8 63.7
7:00|FEdL 3.6|FILFE 7.9|FadLEE 45 1.2 1.2 1.1 -5.8 59.9 0 0 0 0 0 0] 10294 59.9 59.3 63.6
8:00(FHILFE 4.1|FEILFE 7.3|Fa 4L 42 2.1 22 1.1 -5.8 56.2 0 0 0.4 0.4 0.21 0.21]  1029.6 60.4 56.2 635
9:00|FEdL 5|#G b7 10.1|FdLFE 5.3 3.2 33 2.1 -5.9 51.4 0 0 0.4 0.8 0.61 0.82] 1029.9 56.2 51 63.3
10:00|FEJL 5.6|FEILFE 9.4|FEILFE 5.7 42 43 3.2 -5.9 48.1 0 0 0.5 1.3 1.13 1.95] 10302 522 4738 63.1
11:00[FEJL 5.1|FEILFE 9.8|FILFE 5.9 5.2 5.3 4.1 -5.3 468 0 0 0.5 1.9 157 352]  1030.1 48.6 46 62.9
12:00[Jt7 46|JL7E 8.8|FEILFE 5.1 6.1 6.4 49 -5.4 436 0 0 0.6 2.4 1.61 513] 10293 477 4238 62.6
13:00[JtJE 7 35[JLE 9.3[JL7E 48 6.1 6.3 5.7 -6 418 0 0 0.1 2.6 0.96 6.09] 102838 443 40 62.3
14:00[dt. 7 44|13t 9.6(JLILFE 49 6.3 6.6 6 —6.6 39.2 0 0 0.1 2.7 0.89 6.99] 10284 4138 36.6 62
15:00 [t 7 42|37 8.8|FILFE 49 6 6.5 6 -6 42 0 0 0 2.7 0.64 762 10284 435 39.2 61.7
16:00|FEJL 4.3|FEILFE 9.5|FILFE 5.7 6.1 6.1 5.8 -5.3 439 0 0 0 2.8 0.52 8.14] 10283 451 42 61.4
17:00[Jt 7 3.5|FILE 8.5|FItLFE 5 5.7 6.3 5.7 -5.4 44.8 0 0 0.2 3 0.26 84| 102838 4438 42.1 61.2
18:00|FEJL 35[JL 784t 45 49 5.7 438 5.1 484 0 0 0 3 0 84| 10294 484 444 61
19:00[FEJL 32|FEItFE 7.2|FEdLEE 39 4 49 3.9 -4.6 53.6 0 0 0 3 0 84| 10298 53.6 484 60.9
20:00|FILFE 2.7|FEILFE 5.4|FEILFE 3.2 35 4 35 -4.7 55 0 0 0 3 0 84| 10302 55.5 53.2 60.8
21:00|78 2.8|F 49|F 3 3.2 35 3 -45 57.2 0 0 0 3 0 84| 10303 58.6 55 60.7
22:00| 78 34|F 6.3|7 3.4 3.6 3.6 3.1 -45 55.6 0 0 0 3 0 84| 10303 58.8 55.6 60.6
23:00|FILFE 2.8|F 7.2|% 3.8 2.6 3.7 2.5 -43 60.5 0 0 0 3 0 84| 10304 60.8 54.3 60.6
24:00:00| It 7 29|FEILFE 57|t 3.3 1.9 2.7 1.9 -4.1 64.7 0 0 0 3 0 84| 1030.1 64.7 59.5 60.7
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EHE R | FRR | xmmsnn SABMAE| BAFoHER xR BRRE|EXEE W= |BEER| AR |BEBs| Bf |[HRE EMRE
m/s m/s °C °Cc % mm h h MJ MJ hPa %
Y 42 35 -55 52.3 1029.2 62.4
xE L 6.1[dt 7 10.8[FHIL A 6.6 -3.8 64.7 1030.5 64.3
HCEE 5:02 1:16 13:13 23:26 0:00 23:18 0:01
=IE 1.1 -7.4 36.6 1027.5 60.5
HCEE 7:21 13:29 13:28 0:57 22:34
g 0 238 3 8.4 8.4
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[ Jedtse | e [ AR | ® | HeAR | MR | mamam | ®@ | raggrs | miew | vapges | ps | gadeds | dJbde | JedbdE [ dE [ EREO[ O RAL |
AREREES 21— 0] 0] 0] 0] 0] 0] 0] 0] 0] 0] 0] 6.4 68.6] 21.4] 3.3] 0.3] 0] 0]




